SUM AND DIFFERENCE
IDENTITIES FOR COSINE

cos(A+B)=cosAcosB-sinAsinB

cos(A—B)=cosAcosB+sinAsinB
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1. Use the sum or difference identities to

find the exact value. —» ne calcwlater answesrs.

cos15° Ty TeT EQuaAall
= co8 (45°-205") =& oS54S5 cos30°

= cos(4s*)cos(zer) - Sia(4s)sinGe")
- (EXCE )+ (Z)(%)

" ET AT
e
4 |/




function, given:

12
COs V= —— where —<v<7r

a. cos(u+v)
= Cos U cos Y—SinlA S?ﬁv
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cos(v—u)
SV.cos\+SinV-Sinlk

b.

4
sinu =—, whereO <u< — and

2. Find the exact value of each trigonometric
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